Level 2

Year 3 Column Subtraction Year 4 Column Subtraction
(with exchanging) (with exchanging)

1. 423 -115= 1. 6423 -2115+=

2. 641 -137 = 2. 9641-5137 =

3. 463 - 156 = 3. 4528 - 1337 =

4. 373 -148 = 4. 6419 - 3246 =

5. 528 - 337 = 5. 5647 - 2863 =

6. 419 - 246 = 6. 8335 - 3756 =

7. 847 - 463 = 7. 4463 - 1136 =

8. 735 - 356 = 8. 6173 - 2448 =



Level 2 Answer Sheet

Year 3 Column Subtraction Year 4 Column Subtraction
(with exchanging) (with exchanging)
1. 423-115=308 1. 6423 - 2115 = 4308
2. 641 -137 =504 2. 9641 -5137 =4504
3. 463 - 156 = 307 3. 4528 - 1337 =3191
4, 373 -148 = 225 4. 6419 - 3246 =3173
5. 528 - 337 = 191 5. b647 - 2863 =2784
6. 419 - 246 = 173 6. 8335 - 3756 =4579
7. 847 - 463 = 384 7. 4463 - 1136 =3327
8. 735-356 = 379 8. 6173 - 2448 =3725



